PhF*oFI5

REERR

A10145 | RITRB/SVF

it
e oo e Ac
SGPERDITER/ > K, =
BREPRD > S, &
B
mEI—F A10145 T=ATXB/ANVF B4 (mm) -
BAZ | B B | BOB | o npmpis WA b A H
a-F | W | @ |FEEAE U C mxgr (0 F '@
0016 15A Ya 21.7 28 | 25 M 8x25 | 25 8
0035 20A % 21.2 28 | 25 M 8x25 | 25 8
0040 25A 1 34.0 28 | 25 | M 8X25 | 25 8
0054 32A 1% 42.7 2.8 | 25 M 8x25 | 25 8
0069 40A 1% 48.6 28 | 25 M 8x25 | 25 8
0073 50A 2 60.5 28 | 25 M 8x25 | 25 8
0088 65A 2% 76.3 28 | 25 M10Xx30 | 25 8
0092 80A 3 89.1 28 | 25 | M10X30 | 25 8
0105 100A 4 114.3 2.8 | 25 M10X30 | 25 8
0110 125A 5 139.8 32 | 32 M12X45 | 36 1
0124 150A 6 165.2 3.2 | 32 M12X45 | 36 11
=]
A10146 | RITXBOY /1
SGPERDITER/ > K,
@07 | BRI EYET,
ERERD - FE L,
@mEI—F A10146 RAOXBOY 7 BT (mm)
YA [ B B | FOR | onmmps #FRIL b AR AL
ok | w | @ EEEAE U C Pexgs [P M T (@
0013 15A Va 21.7 28|25 | M8x25 | 25 | 72| W%
0028 20A % 21.2 28| 25 | M8x25 | 25 | 74| W%
0032 25A 1 34.0 28 | 25 | M 8%X25 | 25 | 78| W%
0047 32A 1% 42.7 28| 25 | M 8x25 | 25 | 82| W%
0051 40A 1% 48.6 28| 25 | M 8x25 | 25 | 85| W%
0066 | 50A | 2 60.5 |28 25| M8x25 |25 91| W
0085 | 65A | 2% 763 | 28| 25 | M10X30 | 25 | 98| W%
0090 | 80A [ 3 89.1 | 28|25 | MI0X30 | 25 | 104 | W%
0102 | 100A | 4 1143 [ 28| 25 | M10X30 | 25 [ 117 | W%
0117 125A 5 139.8 32|32 | M12x45 | 36 | 144 | W
0121 | 150 | 6 1652 | 32| 32 | M12x45 | 36 [ 157 | W%

0 2L




